20248 =0ila LESIH WISt

2A: M=
M AYHE 243
Rl AIZIHE SA

H & 0l & AHS B Ml A

SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
=1 27,115,280 22,596,553 4,518,727
| 1,206,410
T 4,830,585
Al 21,078,285
NS 835 8,925,659 6,936,740 1,988,919
| 1,206,410
= 782,235
Al 6,937,014
A2IXE S& 203,640 0 203,640
| 142,548
Al 61,092
=100 |=xEel g X 203,640 0 203,640
| 142,548
Al 61,092
101 2124 d| 172,163 0 172,163
| 120,514
Al 51,649
M IIZINZ22 NS Es 172,163 0 172,163
O2s XA 93,890
>olE2=s 3,044,350 x2F + 12 73,065
| 51,146
Al 21,919
DAHEEZ 384,560 x2H«12& 9,230
J| 6,461
Al 2,769
D22 4,195,000 * 14| 4,195
| 2,936
Al 1,259
>EES 3,700,000 *2H 7,400
| 5,180
Al 2,220
OME=EA 63,193
>ol23 2,077, 7203 x2Z = 12& 49,866
| 34,906
Al 14,960
DAHEE = 225,975 x2Fx12& 5,424
| 3,797
Al 1,627
DHEIZEY 2,863,000 *14] 2,863
| 2,004
Al 859
>EAS 2,520,000& 2% 5,040
| 3,528




M S

M AgME 243
Rl AIZIHE SA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,512
OEF0HI 6,480,000 * 14 6,480
Jl 4,536
Al 1,944
OLl=H| 200,000 x4 H 2 1,600
Jl 1,120
Al 480
O2xel8 elAd| 7,000,000 *14] 7,000
Jl 4,900
Al 2,100
201 223 31,477 0 31,477
7l 22,034
Al 9,443
01 At2t2ltl 28,277 0 28,277
OMgoISHE +=24|
25,077,000& x14] 25,077
Jl 17,554
Al 7,523
OEYXE SRl 3,200,000 *14] 3,200
Jl 2,240
Al 960
2 S5=24g4l 3,200 0 3,200
Odlsins & 28& 3,200,000& *14] 3,200
Il 2,240
Al 960
OZALX o 157,000 200,000 43,000
T2s 8301 dAKIE 117,000 130,000 13,000
307 gl2to| & 117,000 130,000 13,000
04 QIRHHAMAIH 2 £ 117,000 130,000 A13,000
OnZ2=s+ 8| ALK
117,000,000 * 14! 117,000
ZEFC &3J1 &1 40,000 0 40,000
308 XtXIEMSO0IE 40,000 0 40,000
18 SIS0t 34 A A A 40,000 0 40,000
O &FC &871 21 40,000,000& *14] 40,000
d2HE s4 4,580,364 4,303,287 277,077
ANYE2STIIR SR 1,591,738 1,562,740 38,998
301 EtE N = 1,591,738 1,562,740 38,998
Rzt - 2SFSEHS 1,591,738 1,552,740 38,998
OMRlE =4 U ARA 248
8,000,000& 14] 8,000
OAYE(|Y, =4, I9&) g=4 el 13,800
>EIIRS 80,0003 * 10 A+ 12E 960




2A: Mo
M AQIHE 2435
el dENE |4 EEREE
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
>EaARI 50,0003 34 A+ 12& 1,800
DAGIERS 20,0002 10 A% 128 240
DEANARS 100,000& *30H A+ 12 3,600
>Et=A 22|l
200,000& *30H 2% 12& 7,200
Oalg XI&Xt elzd| 419,242
PIIZS (62 652 AF)
3,725,900 x6F 122 268,265
DAY 3,725,900 6 #2323 x50% 22,356
> YE IO 3,725,900 6 +23| x60% 26,827
D2y 350,000 x6H+12& 25,200
> == 50,0002 x6H*12& 3,600
=gaia] 250,000 x6Z 12 18,000
D&Y 100,000 x6H*12& 7,200
>otEsY 80,0003 x6H 123 5,760
>=0IAZREZ 377,208,000& 4. 5% 16,975
DHABEZ 377,208,000 *3.545% 13,373
DEIIRYEEZ 13, 184,000&%12.81% 1,689
>NESEZ 377,208,000 *1.75% 6,602
DATHEEZ 377,208,000& *0. 9% 3,39
OalgE d= JUH| 80,000,000 14| 80,000
OalglE d== Q12| 785,841
>II22(732 958 &)
2,770,200 x15H 12& 498,636
>EIZSY 2,770,200 15«23 *50% 41,553
>EEZOH| 2,770,200 15«23 *60% 49,864
D2y 350,000& x 15 =123 63,000
> ==t 50,0003 *158 = 12& 9,000
> =4I 250,000& x15H 123 45,000
>=00H3REZ 707,053,000& *4 . 5% 31,818
DHABEZ 707,053,000 *3.545% 25,066
DEIIRYEEZ 24,712,000&%12.81% 3,166
>NESEZ 707,053,000& *1.75% 12,374
DANEEZ 707,053,000& *0. 9% 6,364
O=IttHE =2 400,000 x38+12& 14,400
O3l EXHI(S4, 95, |4)
100,000 *x21G 52 x53| 52,500
O&XEgd(=4d, 95, ]4)
100, 0003 *21E * 10 *23| 42,000
OUMBEE(SY, 95, s4)
60,0003 =218+ 12& 15,120
O=UUz Z&= 15,000,000 * 14! 15,000
O= MUz ZA= 15,000,000 *14! 15,000




A MY
M AgME 243
el dENE |4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oalglel A4 oF gl
150,000 x3E}* 12 5,400
OMRIE H4E ATZSR P
100,000& 38!+ 123 3,600
O&gs AHald 9,000
Det=mAHACAY 3,000,000& *14] 3,000
PetmaAToAY 3,000,000 *14] 3,000
DetndAFYAY 3,000,000 14| 3,000
O&g8 U=l 52,780
>et= 250,000 x21&+23] 10,500
>Eds 200, 0003 x21H 23] 8,400
>AII= 200, 0002 * 15 23 6,000
PT-M= 65,0008 +x212H*23] 2,730
>etets 250,000 x21E 12 5,250
>ZJIsH=4) 200,000 x5 *22] 2,000
>AINEHAE) 200,000 x5 +23] 2,000
DAIASHSA) 300,000 x5 *23] 3,000
>etdst 200, 0002 x21E 22 8,400
>EHOI = 150,000 *15& 23] 4,500
O2d3Hl F(Ax, =4, 54) 30,095
DACEdE I 18,500,000 x 14 18,500
DRdEHEH 7,095,000 *14] 7,095
Do 4,460,000 * 14 4,460
OdgE &A= 6,000,000& +5H 30,000
ZEEENXNELH=SUHE =& 286,000 286,000 0
307 elzto| & 286,000 286,000
04 CIZHHAMALRH 2 & 286,000 286,000
ORNI592 ZASENXE2HEU EH
286,000,000 x 14 286,000
HEME S 2,112,631 2,464,547 /351,916
307 21201 & 712,901 1,189,292 A476,391
02 QB HANEER 712,901 695,047 17,854
O&2H=24d3 A&
225,000,000 *14] 225,000
ONEMSXCX 24
487,901,000& x 14 487,901
308 AHAIEMSOIE 1,399,730 1,235,255 164,475
08 WEJI20etEx 1,399,730 1,235,255 164,475
O= - =8t MSXNEX Xl X (nSH
al) 1,074,720,000& *14] 1,074,720
Ox - 381 Hs24% N(ns3H])
325,010,000 x14] 325,010
=3 28X 589,99% 589,99%
307 elztol & 589,99% 589,99%




2A:

M AgME 243
el dENE |4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 2N EHE2SHIEX 589,995 0 589,9%
OMS2AMNF= 21248 X2
500,895,000 x 14 500,895
OHS3ALR 2| X2
89,100,000 * 14! 89,100
dEHs |4 3,518,457 1,960,660 1,557,797
7l 1,016,909
= 782,235
Al 1,719,313
HEA 2SN 9,740 10,940 1,200
201 et 3| 1,100 1,100 0
01 At 22|l 1,100 1,100 0
OM=Uz st S22 M
55,0002 *20& 1,100
202 04l 8,640 8,640
01 SLHoIH 8,640 8,640
OMSAL 2804
720,000 * 122 8,640
FESENXENAD & =22 el RX 54,000 60,000 26,000
307 @120l & 54,000 60,000 26,000
04 QIZHHAMAIH 2 £ 54,000 60,000 26,000
OZESENMXZXNAD & =2 Ul &7
Xl 54,000,000 *14! 54,000
MEX= SHOISUHMA JHEl 120,000 130,000 10,000
307 glztol & 120,000 130,000 10,000
04 QIZHHAIAIRH 2 X 120,000 130,000 10,000
O20244 H&H= StOtSUHME JHAl
120,000,000 *14] 120,000
Al BEAEE MSU2 KA 27,000 30,000 23,000
307 gl2to| & 27,000 30,000 /3,000
04 QIZHHAMAIH 2 £ 27,000 30,000 23,000
Q20248 A=Al HEAEE H=U2 W
27,000,000 * 14! 27,000
ZESENXCMEHSUH =8 108,000 108,000 0
307 212+01& 108,000 108,000
04 QIZHHAIAIRH 2 X 108,000 108,000
ONIRs| AASENXCUHETHSUHE &
& 108,000,000 *14] 108,000
ZEEENXE HE4 dEHEUHE = 30,000 30,000 0
307 el2to| & 30,000 30,000
04 QIZIHAIALE 2 & 30,000 30,000
OHMI193l HESEXAT HEd HEHSU
3 EM 30,000,000 *14! 30,000
oz e 2d 10,000 15,000 /5,000




2A: HSD
AN 243
ool dEHs =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 2I2H0| & 10,000 15,000 5,000
EIEIENETEES 10,000 15,000 A5,000
Ool24l sl & 10,000,00021* 14! 10,000
SASENXSTADI(HH)HEl & BoIZIHHsl BF 76,230 84,700 18,470
307 2I12H0| A 76,230 84,700 18,470
04 BIZFHAIAIRI R X 76,230 84,700 8,470
OLASHTXISXIADI (B THE] L &5l
JIte &% 76,230,002 %141 76,230
DSEm o8 S0 A 105,300 117,000 A11,700
307 2I2H0I A 105,300 117,000 A11,700
04 BIZIHAIAIRI X 105,300 117,000 A11,700
O20e4d DSBtW 18 M3 N
105,300, 00021 * 14! 105,300
AFEXIA A2 BSOS O 36,000 36.000
307 2I12H0| A 36,000 36,000
VEIEIENETEES 3,000 3,000
ORI193] FXIoHh 2 BISOIEICHE] JHZ)
36,000, 0008 14! 3,000
AFAIZH &2 EHILIALS A 3,000 40,000 /4,000
307 2I2H0I A 3,000 40,000 4,000
04 RIZFHAIAII X 3,000 40,000 A4,000
ORIB3] AFAIZH M2 HILIALS
36,000,000 14! 36,000
AFXIO H= ER0H8 WA 3,000 40,000 A4,000
307 2I12H0| & 36,000 40,000 A4,000
EIEIEVNETEES 3,000 40,000 4,000
ORI283| =X/t &= S48 Nz
36,000, 000& 14! 3,000
AT M2 XS0 EHASUE N 60,000 30,000 30,000
= 30,000
Al 30,000
307 BI2H0I A 60,000 30,000 30,000
=S 30,000
Al 30,000
EIEIENETEES 60,000 30,000 30,000
O2024t A= B2 ZZ1 B3
oh 60,000,000 14! 60,000
= 30,000
Al 30,000
AFXIOH LASHNAE S 203 N 20,000 20,000 0
= 10,000
Al 10,000
307 BI2H0I A 20,000 20,000 0
= 10,000




2A:

=t

M AgME 243
ool dEHs =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 10,000
04 DIZFHANAI B 20,000 20,000 0
02024 XTI YASEXE LU 2
2 =g B 20,000,000 * 14 20,000
== 10,000
Al 10,000
ANHALEHE TSAIE 2= X 6,300 7,000 AT700
307 lztol & 6,300 7,000 AT700
02 2B YA HE X 6,300 7,000 A700
OXNAEHE “=AIE 2=+ K&
6,300,000 *14] 6,300
xetet Sdl2 Edigeld el JHal 130,000 0 130,000
=S 30,000
Al 100,000
307 @120l & 130,000 0 130,000
< 30,000
Al 100,000
04 QIZHHAIAIH 2 X 130,000 0 130,000
020244 Xletat Ecligeld tHal JHzl
130,000,000 *14] 130,000
= 30,000
Al 100,000
AFAIEE &= 202 i 27,000 30,000 /3,000
307 gl2tol & 27,000 30,000 23,000
04 QIHHAMAIH 2 £ 27,000 30,000 23,000
020242 A=AEH &= 7 iz
27,000,000 * 14! 27,000
TR E=HETNS RS JhE 36,000 40,000 24,000
307 elztol & 36,000 40,000 24,000
04 QIZIHAIAIRH 2 X 36,000 40,000 24,000
o204 A==X I 8= HEHMS 202
Dk 36,000,000& » 14 36,000
ESEMXE HEdEMSUH 28 20,000 20,000
307 el2to| & 20,000 20,000
04 QIZHHAIAIH 2 £ 20,000 20,000
OHM3al HHASENAT 88U FU2
Ega 20,000,000 *14! 20,000
OSSN A 25 X 31,458 30,688 770
Il 16,729
Al 15,729
307 elztol & 31,458 30,688 770
Il 15,729
Al 16,729
02 2B HAIAE & 31,458 30,688 770




2A: M=

M AQIHE 2435
Cel: MENE |4 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OLUUMEH S S XS
31,458,000 3 14 31,458
| 15,729
Al 15,729
ABLMEH SIS A = K& 8,212 8,212
307 2I2+01™ 8,212 8,212
02 QIZHAAAIHE X 8,212 8,212
OSSR = XI&
8,212,000 * 14| 8,212
HEAMMEHSXCTX 2 K| A,372 2,064 2,308
| 47,186
Al 47,186
307 212+01™ 4,372 92,064 2,308
J| 47,186
Al 47,186
02 QItBAAIH E X A,372 92,064 2,308
O MEMSX At &5 X3
94,372,000 3 *14! A,372
| 47,186
Al 47,186
HEaAMMESXENH = XI&J 24,636 24,636 0
307 212+01 A 24,636 24,636
02 QIZHAAAIEER 24,636 24,636
O EMMEREKEI =5 XA
24,636,000 3 14 24,636
METX X HMA 9,360 0 9,360
T 2,808
Al 6,552
307 2I2+01™ 9,360 0 9,360
T 2,808
Al 6,552
02 QIZHBAAIEER 9,360 0 9,360
OMEMSXEN 2545
6,000,000 * 14 6,000
& 1,800
Al 4,200
OMENFXCA 25+
3,360,000& * 14| 3,360
T 1,008
Al 2,352
ATRAMOIZ2H KA 1,167,600 764,100 403,500
| 817,320
T 175,140
Al 175,140




A MY
M AgME 243
ool dEHs =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 1,167,600 764,100 403,500
Jl 817,320
== 175,140
Al 175,140
01 AR 2EHSHS(RNEXRTHE) 1,167,600 764,100 403,500
OAZZUHO0|ZA K&
1,167,600,000& x14] 1,167,600
Il 817,320
== 175,140
Al 175,140
FoHAAEZ=ZHO0IE KA 195,249 123,120 72,129
Il 136,674
== 29,287
Al 29,288
301 22N = 195,249 123,120 72,129
Jl 136,674
= 29,287
Al 29,288
01 Al EE A S(FRDEXA) 195,249 123,120 72,129
OFMHAAZIAF0ISH A
195,249,000 * 14! 195,249
7l 136,674
= 29,287
Al 29,288
HEHF U 2S 20,000 12,000 8,000
< 10,000
Al 10,000
307 212+01& 20,000 12,000 8,000
& 10,000
Al 10,000
02 2B YA E X 20,000 12,000 8,000
OdgNsue =2 20,000,000 *14] 20,000
= 10,000
Al 10,000
Xt 2RSS AT HUAE JHE 40,000 40,000 0
s 20,000
Al 20,000
307 @I2t01 & 40,000 40,000 0
[ 20,000
Al 20,000
04 QIZHHANAIS 2 X 40,000 40,000 0
O2024E x|t HBASERNXIE HILIAWS
Dk 40,000,000 x 14 40,000
= 20,000




A MY
M AgME 243
ool dEHs =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 20,000
FAaE OFE X3 30,000 30,000
== 15,000
Al 15,000
307 212+01& 30,000 30,000
< 15,000
Al 15,000
02 2IZHBHAIHE £ 30,000 30,000
020248 |R4E O X2
30,000,000& * 14 30,000
= 15,000
Al 15,000
X d= fRA4E ZRU2 Oz 80,000 80,000
== 40,000
Al 40,000
307 212+01& 80,000 80,000
< 40,000
Al 40,000
04 CIZHHANAIS 2 80,000 80,000
o204 AR 8= 7aE F2U= N
Zl 80,000,000& » 14 80,000
= 40,000
Al 40,000
FFAIEH H= AILIO BILIAGE! JHE 20,000 20,000
== 10,000
Al 10,000
307 212+01& 20,000 20,000
[ 10,000
Al 10,000
04 QIZHHAIAIRH 2 & 20,000 20,000
O2024 E=AZH d= AILIK HILIA=Z OH
Zl 20,000,000& » 14 20,000
= 10,000
Al 10,000
Al BHERIE S50l stote =X JhE 40,000 40,000
s 20,000
Al 20,000
307 @I2t01 & 40,000 40,000
[ 20,000
Al 20,000
04 QIZHHAIAIRH 2 X 40,000 40,000
O20248 2ZAl BIZRIE E501 30K =
Dk 40,000,000 x 14 40,000
= 20,000




2A:

X XH -
o=

=t
A= g4zt

ool dEHs =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 20,000
FAIQ AZAE HEAUE = 30,000 0 30,000
== 15,000
Al 15,000
307 212+01& 30,000 0 30,000
< 15,000
Al 15,000
04 QIZHHAMAIRH 2 & 30,000 0 30,000
O2024d A=AIQ A48 HENUE Jhz
30,000,000& * 14 30,000
= 15,000
Al 15,000
= MA AEX HIAEE X 700,000 0 700,000
== 350,000
Al 350,000
307 212+01& 700,000 0 700,000
< 350,000
Al 350,000
04 QIZHHAMAIRH 2 X5 700,000 0 700,000
O20244 A= WA AE=X HIAEIE OHF
700,000,000 » 14 700,000
= 350,000
Al 350,000
K5/K6 2l &I XI& 30,000 0 30,000
307 @I2t0| & 30,000 30,000
04 QIZHHAMAIH 2 £ 30,000 30,000
020244 K5/K6 2l &S X
30,000,000 * 14! 30,000
HESgl E=2=zUa A 50,000 0 50,000
= 25,000
Al 25,000
307 elztol & 50,000 0 50,000
= 25,000
Al 25,000
04 QIHHAIAIH 2 £ 50,000 0 50,000
OHMI423l e8I ===l KA
50,000,000& » 14! 50,000
== 25,000
Al 25,000
ZoHeH=E |4 466,198 472,793 26,595
Il 46,953
Al 419,245
Joeld=sgs N 50,000 80,000 230,000
307 elztol & 50,000 80,000 230,000




2A:

=t

M AQIHE 2435
ol ZoHedE =4 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
02 QIZHAAAIEER 50,000 80,000 230,000
O M=as XA
50,000,000 14! 50,000
HOHIMZX T EA3t 25,832 30,000 N4,168
307 212+01™ 25,832 30,000 A4,168
02 QIZHAAAIHE X 25,832 30,000 N4,168
OXMeId=zM= &dat XA
25,832,000 3 *14! 25,832
ZASEUXE M= & 60,000 45,000 15,000
307 212+01 A 60,000 45,000 15,000
04 QUIZHHAIAIRE E X 60,000 45,000 15,000
OHMI178| ZASERNXE HHO{e! M SH
3 =H 0,000,000 *14] 60,000
SHOHRIAZ X SHAL JHZ| 23,000 30,000 A7,000
307 212+01™ 23,000 30,000 A7,000
04 QIZISHAAIS B X 23,000 30,000 A7,000
OFOHRIA = SHAL JHZ|
23,000,000& *14! 23,000
HFeIM=lz S8 =& 20,000 20,000 0
307 QIZ2t01 A 20,000 20,000
04 QIZHHAIAIE E X 20,000 20,000
O M= 55 &
20,000,000 14! 20,000
Zoeld=s 29X 177,058 190,335 A13,277
307 212+01™ 174,558 178,855 A4,297
03 QIZIHXHE2IHIEX 174,558 178,855 N4, 297
OXeIM=2l AtR= 2lAdl XI&
145,758, 000& * 14| 145,758
OZAM=S AMR= 29| XA
28,800,000 14! 28,800
402 QI2H X201 ™ 2,500 11,480 8,980
01 QIZEXHE2AIS 2 (KHRITH ) 2,500 11,480 28,980
OFMLIM=E AtR= &I 2
2,500,000 *14] 2,500
ORI MEKIS XIS At E2SK& 93,906 61,056 32,850
| 46,953
Al 46,953
307 2I2+01™ 93,906 61,056 32,850
| 46,953
Al 46,953
02 QIZHBAAIEER 93,906 61,056 32,850
OO MEHEKEA E=SKS
93,906,000 14! 93,906
| 46,953




M S

33 AlUNE 2483
&t Hofelds =4 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 46,953
O M SNEA =& X 16,402 16,402 0
307 21201 & 16,402 16,402
02 LB AANHEE 16,402 16,402
OZUHAIMEHSNER +SXIR
16,402,000 * 14| 16,402
HEAE &5 12,368,555 9,267,499 3,101,056
=S 4,048,350
Al 8,320,205
SHEAE &S 5,500,000 400,000 5,100,000
Al SEHSHH 3,500,000 3,500,000
401 AIEHIZ SR 0HYI 3,500,000 3,500,000
01 Al&HI 3,200,000 3,200,000
o2l | =g
3,200,000,000& *14] 3,200,000
02 Zeltl 300,000 0 300,000
Ozl 300,000,000 * 14 300,000
A2 cl2aed 1,800,000 1,800,000
401 AIEHIX R0 1,800,000 1,800,000
01 A28l 1,800,000 1,800,000
OXSH=2 cIREE
1,800,000,000& *14] 1,800,000
JEZAl 57 =4 100,000 0 100,000
401 AlEHIZL SO 100,000 100,000
01 Al&H| 100,000 100,000
OIIYEA ZRH
100,000,000 14 100,000
zaesx I 100,000 0 100,000
401 A&BIL=ThY| 100,000 100,000
01 Al&H| 100,000 100,000
OBYSSH JI274 U LN 48
100,000,000 * 14! 100,000
MEHSAIE 2F 6,564,432 8,591,440 A2,027,008
< 4,048,350
Al 2,516,082
HolEESE 4X & |RXl 150,432 180,720 N288
401 AIE2HIX S CHYI 150,432 180,720 N288
01 Al&H| 150,000 150,000 0
OHOIE=E £X & 2+
150,000,000 *14] 150,000
03 Al 2 THHI 432 720 A288
OAl4 S THYI 432,0003 *14] 432
Ax2H Eecl MFAl At) 2,000,000 0 2,000,000
[ 1,300,000




A MY
M WAL &S
CHel: MEXSAIE &3 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 700,000
401 AIEHIX 20 2,000,000 2,000,000
=S 1,300,000
Al 700,000
01 AlZ8| 2,000,000 2,000,000
OAZY SU2| MSKAIE =4
2,000,000,000& *14] 2,000,000
< 1,300,000
Al 700,000
JIE Al MEHSAE DL (HEAIY) 2,500,000 2,500,000
= 1,625,000
Al 875,000
401 AIZHIX S0HH 2,500,000 2,500,000
=S 1,625,000
Al 875,000
01 AlZ28| 2,500,000 2,500,000
OIILTA MEUSAL F4
2,500,000,000& *14] 2,500,000
< 1,625,000
Al 875,000
mn=as=d X & !X2e 20,000 20,000
401 AIZHIZ S0 20,000 20,000
01 Al&H| 20,000 20,000
o a=2& &1 & 2+
20,000,000& * 14 20,000
AILIOT &S =4 25,000 25,000
401 AIEHIZ SR 0HYI 25,000 25,000
01 AlZ8| 25,000 25,000
OAlLIN &§7& =4 25,000,000 *14! 25,000
TRH WM OSHRE JIs2d 200,000 200,000
= 100,000
Al 100,000
401 Al HIZ 2018 200,000 200,000
= 100,000
Al 100,000
01 AlZH| 200,000 200,000
OBRY M2i (2XAE J|s2
200,000,000 *14] 200,000
s 100,000
Al 100,000
OTEH M2 Os87E 2882 &4 140,000 140,000
= 70,000
Al 70,000
401 Al HIZL 01| 140,000 140,000




A MY
M WAL &S
CHel: MEXSAIE &3 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 70,000
Al 70,000
01 Al&H| 140,000 140,000
OmSY w2p (SIS 2HBY X4
140,000,000 *14] 140,000
= 70,000
Al 70,000
NEUZE 3B E2E JIsES 70,000 70,000
== 35,000
Al 35,000
401 AIEHIZ SR 0HYI 70,000 70,000
< 35,000
Al 35,000
01 Al&H| 70,000 70,000
ONRNZ B =7F Jls2Y
70,000,000 *14] 70,000
= 35,000
Al 35,000
SASHI MFA U=2EHAE &4 200,000 200,000
== 100,000
Al 100,000
401 AIEHIZ SR HYI 200,000 200,000
[ 100,000
Al 100,000
01 Al&HI 200,000 200,000
OR4a5HX MJA =8 2E =4
200,000,000 x 14 200,000
= 100,000
Al 100,000
SZMASEE TH(HEAY) 959,000 959,000
s 623,350
Al 335,650
401 AIEHIZ SR OHYI 959,000 959,000
[ 623,350
Al 335,650
01 Al&HI 959,000 959,000
osgZmas=dy x4
959,000,000& x14] 959,000
= 623,350
Al 335,650
SXH otEe| U=SHTE Td(HEAY) 300,000 300,000
=S 195,000
Al 105,000
401 AIEHIZ SR THYI 300,000 300,000




2A:

E M

=t
HEAE &S

Chol: MBTISAY S5 (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 195,000
Al 105,000
01 Al&H| 300,000 0 300,000
Oz NE k&l UsS2y &4
300,000,000 * 14 300,000
= 195,000
Al 105,000
SUHISAIE &F 304,123 276,059 28,064
SUIMEAIE X & =2 304,123 276,059 28,064
101 21AH| 12,347 12,339 8
M IRMZZNEE 12,347 12,339 8
Ooﬂ:.gg%(%uuﬂ%Mg Kx) 12,347
>ol=a
2,386,780 (20/40) Al 2+ 1893 10,741
D> AXt=g 11,4203 *4 A 2Hx1H+8L 366
P=RUASRYES 11,105,950 +4. 5% 500
DALEEHE 11,105,950 *3.545% 3%
PEINQAYEEE 393,700 %12.81% 51
PUEEEE 11,105,9502 %1.75% 195
DANESE S 11,105,9502 0. 9% 100
201 et 3| 91,200 63,000 28,200
01 AtR2tc|Hl 12,000 13,000 A1,000
OSUIM=AIE 2el+=8H|
1,000,000& «12& 12,000
02 S5=2g4l 79,200 50,000 29,200
OSUHSAE 552=
6.,600,000& 122 79,200
401 AIZHIX S0HH 200,576 200,720 A4
01 A28l 200,000 200,000 0
OSUIMEAIE €1 € 2=
200,000,000 *14] 200,000
03 Al& = HHI 576 720 A144
OAIZ20HHI 576,000& x14] 576
H=33 Zdael 110,000 400,000 A.290,000
BIEAMSEHA =4 110,000 400,000 290,000
BHEMSEA ZLE S2x £X 100,000 0 100,000
401 AlZHIZ SO 100,000 0 100,000
01 A28l 100,000 0 100,000
OHEHMSEA &y B2 £X
100,000,000 * 14! 100,000
BHEMSEA OFRHESE HIOIEAIE &£X 10,000 10,000
401 AlZHIZ S0 10,000 10,000
01 Al&H| 10,000 10,000




A HSD
M Ms3E =g
el EHEMSEX &4 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHZMSEX OFFHSE HIIFAIL &1
10,000,000 * 14! 10,000
HMSAILE 2" 5,604,976 5,555,654 49,322
STHSAE el 5,604,976 5,355,654 249,322
STHSAL 29 5,604,976 4,459,654 1,145,322
309 E&3 5,531,976 4,187,600 1,344,376
01 SAL - SHIAFEZ 5,531,976 4,187,600 1,344,376
ON=s3d 22U
3,283,449, 0002 * 14! 3,283,449
OZCIHSHE /ARIER SR 2SS
2,248,527, 0002 *14! 2,248,527
404 SAIBSHT=FHES 73,000 272,054 199,054
01 BAL - BHI2FEZ 73,000 272,054 199,054
OMSTY 2gUs 14,000,000 % 14! 14,000
O=LUHSHE /L EMS2 2SUH
59,000,000 *14! 59,000
HY LA (MS) 106,090 236,660 A130,570
ol 2| (HS D) 53,468 180,468 127,000
ol 2| (MK D) 53,468 180,468 127,000
101 12| 53,468 180,468 A127,000
01 24 53,468 86,814 ~33,346
OAlZteI 2244
11, 139 * 162 *300A1 2+ 53,468
Jl=ZHI(M=1) 52,622 56, 192 23,570
Jl=3HI(HMS) 52,622 56,192 A3,570
201 Yer2% | 24,552 27,852 23,300
01 AtR22/H| 22,064 25,364 3,300
ORAN2Y AR22IH|
22,064,00021% 14! 22,064
2 SS2g| 2,483 2,483 0
ORAM2Y T2l
2,488,00021x 14! 2,483
202 OiH| 21,720 20,280 1,440
01 =LHoILI 21,720 20,280 1,440
O =2 R430it] 1,560,0008 * 128 18,720
OMSYRFE 2204t
3,000, 0002 *14! 3,000
203 HPFEXL 3,600 6,060 2,460
M ENSLY2TT| 3,600 6,060 22,460
O20% 0lat 300,00024* 122 3,600
405 XA SH 2,750 2,000 750
01 XAt L SEF S 2,750 2,000 750
OPC(2 i) 1,300,00024*1CH 1,300
OPC(Z2LIE) (L H) 300,000 *1CH 300




2A:
X XH- &
o e

=aak

=t

SA - Z3F - SRA(E) - HRAEY

- HyS

Ofl &F2H

MEE
Ofl &k2h

OTV(12H)

1,150,000& = 1CH




